Weekly Homework




                Name ____________________________________

Tuesday, March 12
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1.                                                               2.                        2.
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3.                                                                                          4.            
Rename each fraction with an equivalent fraction.   7/8 = ______     2/3 = ______   9/15 = ______   4/5 = _____

Wednesday, March 13

1.                                                                                                2.        



 
3.                                                                                                 4.
Weekly Homework





Name ____________________________________
Thursday, March 14
         
1.                                                                 




Little extra MATH LOVE!

              2.       
1.                                                                




3.


Rename each as an mixed number. 41/4 ______     32/5 ______     9/2 ______       17/3_____  55/6 ________
List the next ten prime numbers after 23.      ________________________________________________________

Write as a decimal.





23/10 _______    		45/100 _______





9/10 _______		 	9/100 _______





Write as a fraction or mixed number.


7.3 ________			1.05 __________





.04 _________		.17 ___________











Use two different strategies to show how you can find the quotient for 146 divided by 8.


       Strategy 1			Strategy 2














6( + 2( = ____            6( - 2( = ____








Compare 3/6 and 4/8 by completing the models below.
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3/6 ____ 4/8 because _____________________


______________________________________





     Create an area model to find the solution.





Tennis balls are packed in boxes of 12.   How many boxes are needed to pack all 160 tennis balls?





                                    160                                  
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r = _________     So, ________ boxes are needed.





Place the following numbers on the number line below:





.05       2        1       1.5      .25       0    .75 














Compare using >, < or =.





 1.5 _____ 2              1_____ .25             2 _____.25





.05 _____.25	         .25 _____.75           0 _____ .25





12





What decimal is shown by the model below? _______
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Create a model below to solve: 


1( + 1( = _____     
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The sum can be named as ____ or ____.





Why are four circles needed?











2. Which is the best estimated product of: 87 and 54





A. 4000         B. 4500         C. 4698         D. 5400





How can this information be used to determine if your answer is reasonable in the next problem?





Draw a model of:  7/1.




















3.  Use two different strategies to show: 87 x 54 = ______





              Strategy 1	        		Strategy 2





$5.73 x 9 = _________





�
�
�
�






Show another strategy below you could use to find the answer to $5.73 x 9.  





Label each of the angles below as acute, right, or obtuse.


    				      


                   A                                    B        








            C           





                        Angle A ___________


           D          Angle B____________


Angle C ___________


Angle D ___________





Write 5 equivalent fractions for:   


( = ______   ______   ______   ______   ______











The distance around the neighborhood track is 0.6 miles.  If Shana walked around the track 3 times, how far did she walk?





4.   Which fraction listed below is NOT equal to the shaded part of the rectangle?
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 4/5	B.  6/10     C.  16/20       D.  1/5














